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(%) far=m sioifEest ©g $2 [What is special theory of relativity?)
(¥) 7' *fmahe #ae seiwg $1 @ $0@? [What is denoted by
two successive Lorentz transformation?]
() ™7 e AAwads 7 | [Write down the equation of
length contraction. ]
(9) 74 7192 3@ &4 | [Write down the transformation formula of
mass.]
(&) @0 AN wrEd Affes F@b @R | [Write down the law of
variation of mass with velocity.]
(5) figsred wesE e F @RME? [What is meant by
Minkowski space-time?]
(8) » @@ Wzpe Gacad 7es i€ | [Define covariant tensor of
rank r ?]

(&) WiEbIere o FAwad 9 | [Write down the Einstein field
equation.]

(3) ZM=E Swret $1? [What is co-ordinate singularity?]

(ws) AR woifraer feaf were Frweg ™ &4 | [Write down
the name of three crucial tests in general relativity.]

(5) 2@rea &% B2 [What is Habble’s constant?)

(&) = TreeT F2 [What is the standard model?]
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TR FATST TZR TR (Adle (@, G20 WG FOWATS (x,, vy, 2,) @
(ynz) FoEER TRE WY WWE [Use

transformation to show that the distance between two points

(Galilean

(x,, ¥, z;) and (x,, y,, z,) is invariant in two inertial frames.]

Y IR @ T :Lq g 2 | [Derive the time dilation
vi-vi /e
formula 7' = l
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FAFEe o
HZTHIIE (@ @ew T @feAma 2 1 [Derive Einstein’s

velocity addition theorem.]
mdle (@, A" @1 C SAF (@6 @Ee gt ([@UeE Sfe @9 8

itetid (9% A (®% | [Show that the resultant of two velocities

each of which is less than C is also less than C ]
2

CIEDI2S Goite (I e Afes o (rele r"::l—z:z
0
[For the motion of a particle in Schwarzschild spacetime show that
2
) m
Fo=1-—1]
1]

mAle (@, AT V, T 4T WBPH12F TS | [Show that every

V, space is an Einstein space.]

g T @, Clp’ —(J]+J] +J]) TRAG FGRT T FATTOF
@R C'p, @F AW | [Prove that C’p’—(J' +J]+J]) is

invariant under Lorentz transformation and equal to C°p; .]

3G ©Uga graremme! 7RI 9 | [Discuss the necessity of string
theory.]

A-fetsf
Rt odrwfs T | A9rwiba wEwa a9
[Describe the Michelson-Morley experiment. Interpret the result of
this experiment.]

WETHREE -G FIFEd E=mc’ &f$8l ¥ | [Establish
Einstein’s mass-energy equation £ =mc’.]

wele (7, RS FASET NA I TNead HARTSS | [Show
that, Maxwell’s Lorentz

equations are invariant under

transformation. ]
@ BN fGorm @ifr fFrhree a8 [T <9 | [Evaluate the

Christoffel symbol of second kind in cylindrical co-ordinates.]
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38 | Mele (@, gm=1+2—f’ € fASHAT ©g «qR WEAHIRT ©F fara
C

W | [Show that Einstein’s theory and Newton’s theory coincide

2

when g, =1 +—f .]
C
2 1 &

3¢ | (Ade & Vv Cp——z-a—l— AE RASE TG | [ShOW that,
¢ Ot
, 180 .. . .
Nip——s Py is invariant under Lorentz transformation.]
c

M | IR TS w-H0 TeE IR 9 1 [Derive the De Sitter model
of the Universe.]
39 | FE-wE woAHe! Fy WRFATHR @ Brewnm wfefd 2w @1 | [What

is red-shifted frequency? Describe the Friedman models of the

Universe.]
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